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Group Number : 1
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Question Number : 1 Question Id : 7150532755 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 7150532756 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
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Question Number : 3 Question Id : 7150532757 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 7150532758 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 5 Question Id : 7150532759 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 6 Question Id : 7150532760 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 7150532761 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 8 Question Id : 7150532762 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 7150532763 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id

: 7150532764 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 7150532765 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 7150532766 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 7150532767 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 14 Question Id : 7150532768 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 7150532769 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 7150532770 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 7150532771 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 18 Question Id : 7150532772 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 7150532773 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 7150532774 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 7150532775 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 7150532776 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 7150532777 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 7150532778 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 7150532779 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 26 Question Id : 7150532780 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 27 Question Id : 7150532781 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 28 Question Id : 7150532782 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 29 Question Id : 7150532783 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 30 Question Id : 7150532784 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Section Id :

Section Number :
Section type:
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time:

Sub-Section Number :

Sub-Section Id :

Language I Sanskrit
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Question Shuffling Allowed : Yes

Is Section Default? : null

Question Id : 7150532785 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (31 to 35)

Question Label : Comprehension
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Sub questions

Question Number : 31 Question Id : 7150532786 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 32 Question Id : 7150532787 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 33 Question Id : 7150532788 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 34 Question Id : 7150532789 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 35 Question Id : 7150532790 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Sub-Section Number : 2
Sub-Section Id : 715053138
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Id : 7150532791 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (36 to 40)

Question Label : Comprehension
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Sub questions



Question Number : 36 Question Id : 7150532792 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
- FA-Z 5T 5 & TLEH THIA e ?

Options :

HIA4T:

Question Number : 37 Question Id : 7150532793 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2T e gaia?
Options :

RREIE]

1. #



Question Number : 38 Question Id : 7150532794 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

7ty g9 TS STaw ATIFTH: T3 aenTE E ataetar

Options :

Question Number : 39 Question Id : 7150532795 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Options :



Question Number : 40 Question Id : 7150532796 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
T Fefe: o1 Sa97?

Options :
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4, %
Sub-Section Number : 3
Sub-Section Id : 715053139
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 41 Question Id : 7150532797 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Options :

Question Number : 42 Question Id : 7150532798 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

T BT AATH?

Options :

AT

TATATH



Question Number : 43 Question Id : 7150532799 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
HelHTEd+ T AT -

Options:

st Lo

Question Number : 44 Question Id : 7150532800 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
7 A Fid Fa?

Options :

1w T fEEE

2. % L



Question Number : 45 Question Id : 7150532801 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
“wrraTEe = gl R v et fefa -

Options :

HHHT

Question Number : 46 Question Id : 7150532802 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
TTOTH AT foraT Fieaa seqsia 7feq?

Options :

,IMW‘;T



Question Number : 47 Question Id : 7150532803 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
HglHT? AT Jled |

Options :

i e
1. % RS

Bt
|
A
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T

Question Number : 48 Question Id : 7150532804 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



‘vt 704 F: THTA:?
Options :

UFST 575

Question Number : 49 Question Id : 7150532805 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
A= AT Hied -

Options :

1959



Question Number : 50 Question Id : 7150532806 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
ST T AT T -

Options :

Question Number : 51 Question Id : 7150532807 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Options:



Question Number : 52 Question Id : 7150532808 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

“qoHE" 9TeEed TUT (9! aga=+ =9 q4id -

Options :

Question Number : 53 Question Id : 7150532809 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
2" TTAET FAFET A1 HT (AN 507

Options :

TGHT

1. #



2. %
3. % =
4.

Question Number : 54 Question Id : 7150532810 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
FIATT ITHIAT: FHE: —mmemmm

Options :

ITHT

’I_bé

Question Number : 55 Question Id : 7150532811 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
5 HHH ALFAAT FFF Agcd AqAHA?




Options :

IFEIL I
1. % 2

5 T5e] AUTF ATTHAH

Question Number : 56 Question Id : 7150532812 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Options:

FTAEA AT A AT Fof oA H |
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Question Number : 57 Question Id : 7150532813 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

e TTETET W= (T ATe T A -

Options :

P EREIRE

1. %
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4. "

Question Number : 58 Question Id : 7150532814 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
ST HIEHA F19 ATIF o= 9071 -

Options :



Question Number : 59 Question Id : 7150532815 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
TeATFHART Jo9TH -

Options :
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Question Number : 60 Question Id : 7150532816 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
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Language II English
Section Id : 71505384
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 26
Number of Questions to be attempted : 26
Section Marks : 30
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 715053140
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Id : 7150532817 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (61 to 65)

Question Label : Comprehension



Read the following passage and answer the questions from 61-65. Choose the correct
option for each question.

The curiosity which makes us come out of our room and leave our study when we hear
uproar in the street holds mirror to our anxiety about our fellow beings, though verging on
sentimentalism. Apart from that, this reduces the tedium of work, breaks the spell of boredom
and engenders in us new energy, and we go back to our work with revitalized interest.

How curiosity develops our personality and intellect can be best known from the study
of Wordsworth's and Shelley's lives. Wordsworth's curiosity led him to love nature. Whether
it was the enigmatic sound of the cataract or the rustling of the leaves he fed his senses to
satiety and gave us wonderful nature poems. Shelley who used to make startling experiments
like an Indian magician expressed his love for what was not traditional. And his poems and
life are only a vocal expression of hus fondness for the unusual curiosity of Keats kindled by
his furst reading of Chapman's Homer made of him a poet of unique imagination so much so
that the sight of a 'Grecian Urn' could inspire him to write a wonderful ode.

In fact much m literature and art is curiosity translated into singing words, immortal
characters and wonderfully eloquent pigments or stones. It 1s, however, a different thing
whether their curiosity to know and understand and to unravel the mysteries of human nature
was 1dle or otherwise.

Sub questions

Question Number : 61 Question Id : 7150532818 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Identify the INCORRECT statement as per the passage.

Options:

Curiosity reduces the tedium of work, breaks the spell of boredom and engenders
1N US NeW energy.

Curiosity develops our personality and intellect.

Curiosity is translated into singing words, immortal characters and wonderfully
4 cloquent pigments or stones.

4.+



Curiosity may be the one which does not help us know and understand the
mysteries of human nature.

Question Number : 62 Question Id : 7150532819 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Identify the word from the passage which means ‘mysterious’.
Options :

1 % fuent

enigmatic

3 % immortal

cataract
4,

Question Number : 63 Question Id : 7150532820 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The author of the passage says, “Apart from that, this reduces the tedium of work...”
Identify the meaning of the word “tedium.”

Options:

1¢ dullness



curiosity

attraction

mystery
g% T

Question Number : 64 Question Id : 7150532821 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

“Whether 1t was the enigmatic sound of the cataract or the rustling of the leaves he fed
his senses to satiety and gave us wonderful nature poems.” Whom does the author talk
about here?

Options:

Chapman
1. %

> % Keats

3 ¥ Wordsworth

4 % Shelley

Question Number : 65 Question Id : 7150532822 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



As per the passage. who 1s the author of the literary text 'Grecian Urn'?
Options :

Chapman

5 % Shelley

3 % Wordsworth

4. Keats

Sub-Section Number : 2
Sub-Section Id : 715053141
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 66 Question Id : 7150532823 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The old woman to the temple every day.
Choose the correct option to complete the sentence.

Options :

came
1. #

5 % has come

3 % come



coInes

Question Number : 67 Question Id : 7150532824 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose the correct word to complete the sentence.

Presently, the problem 1s that industries set up in the backward area because of
the concessions offered there.

Options :

1 % be

are

4. % Wwas

Question Number : 68 Question Id : 7150532825 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

After their graduation, his daughters are searching jobs.
Choose the correct word to fill the blank.

Options :

1 ¢ tor



oOver

01l

in

Question Number : 69 Question Id : 7150532826 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Yesterday, I met him 5 PM.
Options :

1 % SO

Over

of

at

Question Number : 70 Question Id : 7150532827 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

They were for the bus, when the accident occurred.



Options :

1 = wait

waited

waiting
3. ¢ =

4 % waits

Question Number : 71 Question Id : 7150532828 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Choose the correctly spelt word from the given options.
Options :

restarant

restaurant
2. %

restaurent

restraurant
4. ®

Question Number : 72 Question Id : 7150532829 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Identify the correct Passive Voice sentence for the given sentence.

‘The two warring groups announced ceasefire’.

Options :

1 ¢ Ceasefire was announced by the two warring groups.

Ceasefire announced by the two warring groups.

Ceasefire has been announced by the two warring groups.

Ceasetire had been announced by the two warring groups.

Question Number : 73 Question Id : 7150532830 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Choose the correct option to complete the following sentence.

The son likes going for a walk,

Options :

do he?

1. %

5 % don’t he?

3 % does he?



doesn’t he?

Question Number : 74 Question Id : 7150532831 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Identify the part with an error in the given sentence.

The children go toschool on bus.
A B £ D

Options :

Question Number : 75 Question Id : 7150532832 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

It 1 the Prime Minister of India. I would eradicate this problem.

Choose the correct word to complete the above sentence.
Options:

Were
Rdi



wWas

3;5315

will be

Question Number : 76 Question Id : 7150532833 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Identify the verb form to complete the sentence.
A: When did vou come from Delli?

B: I trom Delhi yesterday.

Options :

1 % come

2 % cOoImes

3. o came

have come
4. %

Question Number : 77 Question Id : 7150532834 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Identify the subscription which 1s NOT appropriate for a formal letter.
Options :

1 % Yours sincerely

5 ¥ Yours affectionately

3 % Yours faithfully

4 % With obediently

Question Number : 78 Question Id : 7150532835 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Choose the appropriate word to complete the sentence.

The driver 1s man.
Options:

an honest
1. %

5 % a honest

3 % the honest

honest
#®



Question Number : 79 Question Id : 7150532836 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The shopkeeper feels gloomy due to the strike.

Choose the opposite word for the word “gloomy.”
Options :

1 % sad

5 % unhappy

happy

melancholic

Question Number : 80 Question Id : 7150532837 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose the correctly combined sentence.
A: The passenger ran fast.
B: He could be able to board the train.

Options :

1 & The passenger ran fast. so he could be able to board the train.

The passenger ran fast, but he could be able to board the train.



The passenger ran fast, however he could be able to board the tram.

The passenger ran fast, if he could be able to board the train.

Question Number : 81 Question Id : 7150532838 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The students are eager to learn.

Choose the synonym for the word “eager.”
Options:

lazy
1. %

keen

indifferent

4. % dull

Question Number : 82 Question Id : 7150532839 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Identify the silent consonant letter 1n the word *debris’.

Options :



2. % b
;

3. %

4.+ =

Question Number : 83 Question Id : 7150532840 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose the appropriate word to complete the sentence.

The naval exercise will include a large of ships.
Options:

1% bunch

heap

3 % pride

4. fleet

Question Number : 84 Question Id : 7150532841 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Choose the correct option when the jumbled words are ordered.

die/ would rather/ up/ She/ give/ than/ her freedom

Options :

She would die than give up rather her freedom.

1.
5 She would rather die than give up her freedom.
3 % She rather would die than give up her freedom.

She would die than rather give up her freedom.

Question Number : 85 Question Id : 7150532842 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following 1s an open-ended question?
Options :

_— What time does the movie start?

“ What made the potter angry?

3 ¢ Why do you think that the potter 1s really brave or lucky?



Who 1s driving the car to the temple?

Question Number : 86 Question Id : 7150532843 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Identify the correct statement regarding Formative assessment at the secondary level in
Telangana State Board.

Options :

The average of four Formative assessments is added as 20 % of marks in the final
1.« results.

The average of four Formative assessments is added as 30 % of marks 1n the final
5 % results.

The average of four Formative assessments 1s added as 40 % of marks in the final

3 % results,

The average of four Formative assessments 1s added as 50 % of marks in the final
results.

Question Number : 87 Question Id : 7150532844 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Identify the true assumption of language learning.

Options :

Language acquisition is a CONsCious process.
1. %



Language is acquired not through recurrence but through repetition.

Learners’ first language plays an important role in learning of other languages.
3.¢ )

4 % All teaching strategies will work with all students

Question Number : 88 Question Id : 7150532845 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
‘Use of polite and entertamning expressions’. This 1s a feature of the following discourse

Options :

1 % Biographical sketch

Compeering
2.

3 % Letter

Essay

Question Number : 89 Question Id : 7150532846 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Example for ‘realia’
Options :
DIKSHA e-content

Blackboard

3 ¥ Handcrafts

4 % Textbook

Question Number : 90 Question Id : 7150532847 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The best way of comprehending the unfamiliar passage can be achieved by allowing
learners to

Options :

use smart phone to understand the passage easily and quickly.

write the passage twice in the notebook.

guess the meaning of the words and sentences in context.
3.¢

refer a dictionary to know the meanings of the words 1n the passage.



Social Studies

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

Question Number : 91 Question Id : 7150532848 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Online
Mandatory
60

60

60

Yes

0

1
715053142
Yes

null

(1296169299, 090, 49C. 19 - 19 2%E; 169E)

Options :

09C.-19C, 19¢C, -49¢C, 49C ,129C, -16°C, 169C, 299C

1. %

~169C, —49C, —19C, 0°C, 19C. 4°C, 12°C, 16°C, 29°C

2. %
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200C, 169C, 129C, 49C ,19C, 0°9%C, —19C, —49C, —16°C

Question Number : 92 Question Id : 7150532849 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options:

6.00 am
E

8.00 am

8.00 pm

6.00 pm

Question Number : 93 Question Id : 7150532850 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
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Question Number : 94 Question Id : 7150532851 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 95 Question Id : 7150532852 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 96 Question Id : 7150532853 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 97 Question Id : 7150532854 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 98 Question Id : 7150532855 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 99 Question Id : 7150532856 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 100 Question Id : 7150532857 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 101 Question Id : 7150532858 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 102 Question Id : 7150532859 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

e T
P8 b0 edme

HT A9 3oa+F A9
Options :
S50 S008) DBoETeaDorT IenHts ¥8

AT FHA1 GATq (e =z |

1. % &

8h &NB8erIE DHEE 08 D88mo

q_ﬁl?il'r: IO ATH: F AT

2. ¢
S 29 ABBEe0D BB Smo
2 % TR F 1o A ETT: gfersT: I9fT gata



Question Number : 103 Question Id : 7150532860 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 104 Question Id : 7150532861 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 105 Question Id : 7150532862 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 106 Question Id : 7150532863 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 107 Question Id : 7150532864 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 108 Question Id : 7150532865 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 109 Question Id : 7150532866 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 110 Question Id : 7150532867 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 111 Question Id : 7150532868 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 112 Question Id : 7150532869 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 113 Question Id : 7150532870 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 114 Question Id : 7150532871 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 115 Question Id : 7150532872 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 116 Question Id : 7150532873 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 117 Question Id : 7150532874 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 118 Question Id : 7150532875 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
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Question Number : 119 Question Id : 7150532876 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 120 Question Id : 7150532877 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 121 Question Id : 7150532878 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 122 Question Id : 7150532879 Question Type : MCQ Option Shuffling
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 123 Question Id : 7150532880 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 124 Question Id : 7150532881 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 125 Question Id : 7150532882 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 126 Question Id : 7150532883 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 127 Question Id : 7150532884 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 128 Question Id : 7150532885 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 129 Question Id : 7150532886 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 130 Question Id : 7150532887 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 131 Question Id : 7150532888 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 132 Question Id : 7150532889 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 133 Question Id : 7150532890 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

8ob B trotir HiFHinos® a8, daed), HBoKod

AeriEay 2 ATTE o 3ot (=

Options:

1, » TECTIEDR
Bars

2. * '
B

3% =
23l 5P

4. ®

Question Number : 134 Question Id : 7150532891 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

5800 BOY a2 GST 0 Géx 18%. 855 **.E‘.‘ 88 &8 8r. 70800. &8 & é

5% S2H0th a8 3o Indo Hily

?:‘-\-E‘Hr"”ﬁ E‘ZH-I—H—’_F[ W 18% 31_&?” S\q.-—-§|,.”4.|-«_4a.q ﬂ'[:%jq',dH H""{ ‘3-1'9+|'C1 . 70800,
TTEAFATTS FAHIT AG FE A a9 AT



Options :
g, 12744

1 % 12744 ==Tio0

am=. 10800
10800 ===11T

&, 9000

3 % 9000 =TT

. 14744
4 % 14744 =wEHT

Question Number : 135 Question Id : 7150532892 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 136 Question Id : 7150532893 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 137 Question Id : 7150532894 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 138 Question Id : 7150532895 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 139 Question Id : 7150532896 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

& DpSo/EES Pty Sod ImEHPe’ HepElEd HHIHEHDHeS Do

Fimed H8e Hoffued Svadfirdor Wosy Sl Srenosdsn (CCE)R

padDido 8536 dabmtod.

TAET  AT/AANET AAAEAT AT WW foraTeaeTT
R EL I C IR P ICER| Iﬁﬁi"ﬂ_’h’ﬁf fveds 26 9 qeAsad (A1)

Options :

ePSdh doe; aprdo — 1968

| w (AT T - 1968



eredh dme; erio — 1986

o TeraArtEe TrrgEiE: - 1986

2808b dor; 8RS — 1952-53

_ HTEATHFTSTATSAIT — 1952-53

grBHB0H DoesEinns - 1964-66

n A TATSTEATSATT — 1964-66

Question Number : 140 Question Id : 7150532897 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 141 Question Id : 7150532898 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 142 Question Id : 7150532899 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 143 Question Id : 7150532900 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TR 8 Gaisho & Sob worre L“E;‘Eg:-f‘bémﬁ-.

Options :



&35?&@3@5& £8y0hen: epard) BOADEDG, PO hotDés s0Bain HE&&odlothés

2BL@We ED)othér; EBNS dno Jrrgded a8 Jaurarorr D0é; @éoihe;
STEsten SRS 25% D 2 p08)0her HBA RHEdodlohé

2.*
26D 50 ; Ao (TryerT Fanes; Hohes; dorg c‘fos;: SRl
DHaren IE B DACRe Sl pomrd) AGEDe; Doetie S0P B0
PR [@858)0thér s0601 E&Eodlohé
FET T EFaTH, FHEE0H, TAF0H, S0, Ta9i=a9q U"
3.¢¥ )
HB0E SFTeD Bl He; HB8D0NHE; HEde; Doriher Sar TP
PR (@080 5080 REdodiohé
AT FTH, ATAHAH, TIFH T, T2 90 U4 Fidiaras
4, ® ‘

Question Number : 144 Question Id : 7150532901 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 145 Question Id : 7150532902 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 146 Question Id : 7150532903 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 147 Question Id : 7150532904 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 148 Question Id : 7150532905 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 149 Question Id : 7150532906 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 150 Question Id : 7150532907 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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